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QUESTION 1

What two options are auto-configured Spring Boot Actuator HealthIndicators? (Choose two.) 

A. DataSourceHealthIndicator 

B. GoogleCloudDataStoreHealthIndicator 

C. DynamoDBHealthIndicator 

D. RabbitHealthIndicator 

E. OktaHealthIndicator 

Correct Answer: AD 

Reference: https://docs.spring.io/spring-boot/docs/1.5.x/reference/html/production-ready-endpoints.html 

 

QUESTION 2

Which two statements about pointcut expressions are true? (Choose two.) 

A. A pointcut expression cannot specify the type of parameters. 

B. A pointcut expression will throw an exception if no methods are matched. 

C. A pointcut expression cannot have a wildcard for a method name. 

D. A pointcut expression can include operators such as the following: andand (and), || (or), ! (not). 

E. A pointcut expression can be used to select join points which have been annotated with a specific annotation. 

Correct Answer: DE 

Reference: https://www.baeldung.com/spring-aop-pointcut-tutorial 

 

QUESTION 3

What are the two reasons Spring be used to build a Java application? (Choose two.) 

A. Spring automates a Java application build. 

B. Spring provides a Dependency Injection container. 

C. Spring automates deployment of Java applications to all of the major cloud providers. 

D. Spring provides comprehensive Java IDE support. 

E. Spring provides abstractions over infrastructure such as persistence and messaging. 

Correct Answer: AB 
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Reference: https://spring.io/why-spring 

 

QUESTION 4

Which three types can be used as @Controller method arguments? (Choose three.) 

A. Locale 

B. Principal 

C. Language 

D. Session 

E. Request 

F. HttpSession 

Correct Answer: AEF 

Reference: https://docs.spring.io/spring-framework/docs/3.0.0.M4/spring-framework-reference/html/ ch15s03.html 

 

QUESTION 5

Refer to the exhibit. 

Which option is a valid way to retrieve the account id? (Choose the best answer.) 

A. Add @PathVariable("id") String accountId argument to the update() handler method. 

B. Add @PathVariable long accountId argument to the update() handler method. 

C. Add @RequestParam long accountId argument to the update() handler method. 

D. Add @RequestParam("id") String accountId argument to the update() handler method. 

Correct Answer: A 

Reference: https://docs.spring.io/spring-framework/docs/4.3.12.RELEASE/spring-framework-reference/ htmlsingle/ 
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